
Gode No. 12067

Time: 2 Hours Max. Mlrks: 80

Note: Answer any four questions.

1 Risk - return Trade-off
2 AYTM
3 Price - Earnings Multiplier Approach
4 Security Market lndices
5 Capital Market Theory

I Determine Macaulay's Duration of a bond which has a face value of Rs.1000 and
8 per cent annual coqpon rate and 4 years to go for maturity. The bonds YTM is
10 per cent. 4,,.

What is Harry Markowitz's portfolio theory? Explain in detail highlighting its
assumptions and limitations.

foltowing data related to two securities in the market, i and j.
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PART - B
Note: Answer any four questions i (4x15=60 Marks) ; .

6 What are ex-ante and ex-post returns? Explain citing an example.

7 What are the sources of lnvestment lnformationZ

8 The lastest dividend paid on the equity share of firm is Rs. 2.34. These dividends
expected to grow at B% per year for the next four years and beyond that till infinity
the groMh rate in dividends would be 4% per year. lf the required rate of returns is
9% find the intrinsic value of the equity share.
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What rr.{=*ffaches to equity valuation? Explain.

Describe'futomputational procedure of Nifty.

risk portfolio and compute its risk and return.
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following information.

Average rate of return on

Average rate of return on this = 19o/,

Average risk free return

Standard Deviation io = 14o/o

Beta of porlfolio, = 0.95.
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